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1. Please define infestation and introduction

2. Please define Gomes classification in Method

3. Please define Water low classification in Method

4. Please use bar graph in fig 4, to be in line with fig 5

5. In Abstract, your results showed data of Gomes classification. However, in your
Discussion, you mixed 2 classifications and got 43.16 and 38.736%, respectively;
please have same digits in decimals, also, please explain how to get these figures;
You had 44.5% and 40.6% in fig 5, by Gomes classification. What is your main
point? You want us to focus on Gomes or Gomes combined with Waterlow? TOO
MUCH DATA CONFUSE ME AND THE READERS. Please have all the data with same
digits throughout this ms.

6. In your Results, why cough is a infection, cough is a symptom, not a disease, why
you do not have otitis media, , please reconstruct your fig 3 both in Results and in
figure
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1. Do not confuse infection with infestation, such as you wrote in Discussion” 41
children ...infected with intestinal parasites, infested is better here to avoid confusion
2.In fig 3, what is prevalence, should be incidence, to be in accordance with your ms
3. Please give full name of MUAC in fig 2

Optional /General
comments

Note: Anonymous Reviewer

Created by: EA

Checked by: ME Approved by: CEO Version: 1.6 (2™ June, 2012)




